F7ARERABREMEFRZ - THER - BRHS(FMTE10A48~80) N EMELHRKRS

(REEE=H0)

Nol @Rl | BB | K& | BB Lo P L BB e g
1 100m |JK HX| KBRAR | 4 |10"52(+0.7)| 6 |10765(-0.9)] X — 0
2 400m | AU S| AAFESA|| 5| 49706 - X — 0
3 |Bk &F| 80om | =K @ | TSPKI& | 2 | 1749707 - 5 1’51701 4
4 110mH |EH 7ov=—|gs7rELvozre]| 1 [13771(+1.6) - 3 13774(-0.2) 6
5 ZERBE |WE RZN| AAFEISA - 14 | 15m46(+4.1)| 0
6 100m |=#E | NEFE3 | 2 |10792(-35)| 3 |11700(-4.5) x — 0
7 |”VEA|l 5000m | AR (Gt |REERES2 — 8 | 14’16776 1 B
8 BEl /I Ef | HEZES2 - 6 4m90 3
9 R 100m |X& H2| HEWAES1 | x | RPEE 0
10 EMEBk | AU Kt |&Z2iEFAF3 - 10 | 6m85(+03) | 0
11 s EEEk BME BE| EESS3 — 3 2m06 6
12 F#E [EH ') | RES3 - 7 47mO03 2
131 B> lax 100mR Fl-ZH-K-54% | 1| 40740 | 1| 40733
FIU-ZH-ER- 515 5 40”35 4
1 100m |E+E EH|(BAREBIXKI| 6 |11793(+3.0) 7 [12711(-09)] X — 0
2 400m | JdtFt 2B | TTa4A> | 4| 56795 — X — 0
3| & | 1500m NER BH |NIKE TOKkYO TC — 5 4’23763 4
4 5000m |BErh IMELUE|JP B AEREG - 1 15° 34738 8
5 EFEH B Cor|ERFEEKS — X RCER7EL 0
6 100m |E FRRERF|[/\EFEZ2| 1 |12"36(-2.2)| 2 |12703-1.1)] 6 | 12"12(-15) | 3
7 |V%&Al 400m |ZHEE EH| EERE3 | 1| 55°50 | 1| 55751 1 54”18 8 B
8 100mH (E% B4 | HERE3 | 2 |13773(+1.6) - 4 | 13"80(+0.7) | 5
9 100m | EF| ELE51 1 |12765(-34)| 5 |12”"32(-12)| 7 | 12749(-18) | 2
10|4%B| 1500m | M HME | IEXS1 || 2 | 429769 — 4 4’25706 5 B
11 EMEEk (22 =A| NEFES1 - 7 | Bm65(+08) | 2
12 800m |tu7— #wmE| BHES3 | 4 | 2°12769 — X — 0
13 . 400mH |#)Il BK| \EF=3| 1| 59789 — 2 58”38 7 K=#
14 iz & x| ERE2 — 6 13m56 3
15 YUK (FE AF | BieFES3 - 8 45mA45 1
16 | 4> [4x100mR| |Lk-EH-EHIE-E | 3| 46753 | 3| 45782 6 45794 3
X & (1205098 (X105 =] ' B 2 R 10
B | X{& [&=s&EC0 | 2E(%) S R=H 1 BRI/ | DA 4
ag| W 26.0 73% 5m HC#H 3 (5) = 0
5t| & 30.5 39% 13| e2 Pt 8
68| ™ 20.0 86% 1455 - 4
7R| 20.5 91% 345 7%8 12
sk| = 22.0 87% 113 EAlER | DA 16
(&) »B 9
XEWN 8f1 87 Hi&E 11
SEH 41 614 Ju— 3
SmE= 10
8 F 87




